bt = AR (L2745 R H) AR

FR28F3A31BIRE

RETE FHES ZABEH SAFHAB| FitE4E (M)
BAT5 - M= (e 7) REELEESZHKAEH mexsseEED TRe7E0AsERss [ 2015/10/30 100,000
AT 1IL rexsse e R Ees te0~ize | 2015/10/23 600,000
EfEEAME EHRERNF LEAPES (PEXIEEE) [ 2015/10/7 500,000
R FK— LERPES (PEXESE) | 2015/10/9 30,000
Ktz 2 LEBAPES (PEXIEEE) [ 2015/10/1 50,000
EEEZANSHREER LEXRFEEE(EEE)| 2015/10/7 100,000
EEEARBI REBEERNFHER mexrEs@sn wRerE AsmRss | 2015/10/27 50,000
REELEESHKAR4 maxsse@Esn Eer 1 AsERas | 2015/11/20 100,000
— B FEANLEREIZEAESR LEEAES (PEXIEESE) [ 2015/10/27 50,000
FH RI LEXyES (PEXEEE) | 2015/10/5 10,000
£ FIIT LEREHS (PEXEEE) | 2015/10/5 50,000
e EA LEXEES (PEXESE) | 2015/10/5 100,000
A = LEXFES MRZESE | 2015/10/5 10,000
[FE XA LEBREES (FEXESE) | 2015/10/7 10,000
28 AEF LEXFHS (PEXESE) | 2015/10/9 5,000
T8 E= LEXEES (PEXESE) | 2015/10/9 5,000
AEFH K EEASES (PEXESE) | 2015/10/9 100,000
FH HE LEXEES (PEXESE) | 2015/10/9 5,000
Hi &2 LEEXyES (PEXESE) | 2015/10/5 20,000
EFEEANENE WARE LEXFES (PEZIESE) | 2015/10/30 1,000,000
EREAMELADKRE KPS DSLHER|LoAEES (FEXIEEY) | 2015/10/22 1,000,000




FR28F3A31BIRE

HhtE S ALK (FR27TEEZ ) NER
SETEGL FHES ZABEH SAFHAB| FitE4E (M)
g LN A LEXyES (HRZESE) | 2015/10/13 10,000
mll % LEEXES HRZIEESE) [ 2015/10/13 25,000
BTEH BEF LEXEES (PEXIESE) | 2015/10/13 100,000
A & LEXyES (FEXIESE) | 2015/10/13 10,000
FH Ez LEBEREHES (PEXEEE) | 2015/10/13 5,000
INK B LEEXyES (PEXIESE) | 2015/10/13 5,000
RHE EF LEXFES (PEXESE) | 2015/10/13 5,000
BIR ER LEEAPES (PEXIEESE) [ 2015/10/13 10,000
FE AR LEXEES HRZESE | 2015/10/13 5,000
=TT LeXyES (MEXIESE) | 2015/10/13 10,000
#H Fa LEREHS (PEXEEE) | 2015/10/13 10,000
RO thiE LEAPES (PEXIEESE) [ 2015/10/13 5,000
BH EE LEXES HRZIEELE) [ 2015/10/13 10,000
HE BE LEXyES (HEZESE) | 2015/10/13 50,000
MR =& LEEXPES (PEXIEESE) [ 2015/10/13 1,000
hE = LEEXPES (—REMFMS)| 2015/10/19 500
=218 ikt LEAFES (—RENZFHS)| 2015/10/19 500
H BE LEEREES(—REMZFHS)| 2015/10/19 500
INL TE LEERZEES (—REMFELR)| 2015/10/19 500
[BH {86 LEAFES(—RENZFHS)| 2015/10/19 500
FH H— LEBAZES (—REMEHFS)| 2015/10/19 500
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HhtE S ALK (FR27TEEZ ) NER FRK2853A31HIRHE
SETEGL FHES ZABEH SAFHAB| FitE4E (M)
H OIEE LEBRFES (—RENFHFE)| 2015/10/19 500
KO BEE LEERFES (—RENFHS)| 2015/10/19 500
=% BER LEAZES (—REMBEHS)| 2015/10/19 500
AR fXEB LEXFES (—RENFHS)| 2015/10/19 500
ERR BX LEAZES (—REMBEHS)| 2015/10/19 500
Bk EFE LEAFES (—RENZFFS)| 2015/10/19 500
INIT D EH EEAFES (—RENZHS)| 2015/10/19 500
full #&7 LEEAZES (—REMERFS)| 2015/10/19 500
g & LBAFES(—RBEMFEHS)| 2015/10/19 500
FOE H8AA LEREES (—REMFEE)| 2015/10/19 500
® ¥ LBAFEE(—REMFEHRS)| 2015/10/19 500
AU 5= LEREES (—HEMEME)| 2015/10/19 500
i Alth LEERFES (—RENFHS)| 2015/10/19 500
ms EE LEXPES (—RENZFHS)| 2015/10/19 500
WX EHF LEA$EE (—REMSFHL)| 2015/10/19 500
bt phy LEEXPES (—REMFMS)| 2015/10/19 500
T EE LEAFES (—RENZFHS)| 2015/10/19 500
=) #HER EBAPES(—RENZHS)| 2015/10/19 500
Ao #hiF LEEAZES (—REMERFS)| 2015/10/19 500
ZH IR LEBKR¥ES(—REMFFE)| 2015/10/19 500
RO MIE EEAPES (—REMFHRS)| 2015/10/19 500




e = AR CER27TEE£E) NE FRE28F3A31 HIRE
SETEGL FHES ZABEH SAFHAB| FitE4E (M)
AR BEHA LEREES (—REMNZFE)| 2015/10/19 500
=7 g8 hEXZES (—RENELS)| 2015/10/19 500
B R LBAFES (—RANZFHS)| 2015/10/19 500
ZxL —% LEAsEE (—REMSTHFL)| 2015/10/19 500
g 782 LEEXPES (—REMFMS)| 2015/10/19 500
=B = LEBAFES (—RENSHS)| 2015/10/19 500
B &l LBAFES(—RBEMFHS)| 2015/10/19 500
E@E & LB ES (—RENFHFE)| 2015/10/19 500
A% EEE LEBKR¥ES(—REMFHFS)| 2015/10/19 500
XH BERE LEREES (—REMFEE)| 2015/10/19 500
wWE = LBAFEE(—REMFEHRS)| 2015/10/19 500
RA |ER LEBAFES (—RENSHS)| 2015/10/19 500
HE X LBXFES(—RENEAS)| 2015/10/19 500
HE # LEREES (—REMNZFE)| 2015/10/19 500
ik mE EBXFES(—RENELS)| 2015/10/19 500
8% = LEXFEE(—RBMFHRS)| 2015/10/19 500
miE % RBAZES(—REMFHS)| 2015/10/19 500
R HE LEAFEE(—REMFHRS)| 2015/10/19 500
XS Em LEEREES (—REMZFE)| 2015/10/19 500
INE R LEBASES (—RENSTHS)| 2015/10/19 500
ZH#A & LEERZEES (—REMNFELR)| 2015/10/19 500




i€ AKR CER27E E £ 8) MER FRE28F3A31 HIRE
SETEGL FHES ZABEH SAFHAB| FitE4E (M)
AR BZER LEBRFES (—RENFHFE)| 2015/10/19 500
B €A LEA$EE (—REMSFHL)| 2015/10/19 500
Rt LEeXZES (—REMEMS)| 2015/10/19 500
BH EA LBXFES(—RENELS)| 2015/10/19 500
LG BREK LERERES (—REMNZFFE)| 2015/10/19 500
ita BE REXSES (—REMEHSE)| 2015/10/19 500
Il XX LBAFES(—RBEMFHS)| 2015/10/19 500
AR HRE EERERES (—REMNZFFE)| 2015/10/19 500
Bl R LEEXZES (—REMFEMS)| 2015/10/19 500
TrE =4 LEASZES (—BEMERS)| 2015/10/19 500
A& {E5h LEAFES(—RENZFHS)| 2015/10/19 500
A+ JEE LEXPES (—RENZFHS)| 2015/10/19 500
ne Es hEXZES (—RENELS)| 2015/10/19 500
KE BE LEXREES (—REMFEE)| 2015/10/19 500
Nt BE LEER¥ES (—RENFHS)| 2015/10/19 500
EXR £4% EBXRZE£S (—RENFHFE)| 2015/10/19 500
b —= LBAFES (—RENSHS)| 2015/10/19 500
S fet LEAFEE(—REMFHRS)| 2015/10/19 500
FiE =L LEEREES (—REMZFE)| 2015/10/19 500
MRl LBAZES (—RENBEHS)| 2015/10/19 500
AR HF EEREES (—REMNZFE)| 2015/10/19 500




e = AR CER27TEE£E) NE FRK2853A31HIRHE
SETEGL FHES ZABEH SAFHAB| FitE4E (M)
=H & EBAPES (—RBENFHS)| 2015/10/19 500
BH EE LEA$EE (—REMSFHL)| 2015/10/19 500
BN BEX LEEAFES (—REMERFS)| 2015/10/19 500
2HE W LeXFES (—RENEFS)| 2015/10/19 500
FH B LEARHES (—EMZHE)| 2015/10/19 500
5 S RBAZES(—REMFHS)| 2015/10/19 500
A & LEEXPES (—REMFEMS)| 2015/10/19 500
BHHE EA LEAZES (—RANZFHS)| 2015/10/19 500
I —ER EeASES (—RENSZHS)| 2015/10/19 500
HE %= EEAPES (—REMFHS)| 2015/10/19 500
BRFE BEA LEAFES(—RENZFHS)| 2015/10/19 500
EH % LBAZES (—RENBEHR)| 2015/10/19 500
AR —ah LRBXREES (—RENEMFS)| 2015/10/19 500
3 -AIN LEEXPES (—REMFMS)| 2015/10/19 500
FH ZEX LEX2ES (—RBMFTS)| 2015/10/19 500
Tk RE LERZES (—REMELS)| 2015/10/19 500
X% #EWF LERZES (—REMELS)| 2015/10/19 500
t BE— EBAPES(—RENZHS)| 2015/10/19 500
IR RE LEEXPES (—REMFME)| 2015/10/19 500
malfE Ex LEEAZES (—RENSFHS)| 2015/10/19 500
BRE & REASES (—RBEMEE)| 2015/10/19 500




i€ AKR CER27E E £ 8) MER FRE28F3A31 HIRE
SETEGL FHES ZABEH SAFHAB| FitE4E (M)
B EXER LBAFES (—RANZFHS)| 2015/10/19 500
Il B LEX2ES (—RBMFTS)| 2015/10/19 500
T Kz LEBASEE (—REMBHTE)| 2015/10/19 500
il 8h LEXREES (—RENEMFS)| 2015/10/19 500
2l IHF LERERES (—REMNZFFE)| 2015/10/19 500
e &F LEERFEES (—REMELR)| 2015/10/19 500
JIEE 20 LBAFES(—RBEMFHS)| 2015/10/19 500
TREE B8k RERSES (—REMEE)| 2015/10/19 500
R EF LBAFES(—RBEMFEHS)| 2015/10/19 500
K& Bhx LBAZES (—RANZFHS)| 2015/10/19 500
ERE R— LEEXPES (—REMFEMS)| 2015/10/19 500
NE #% LEBRFES (—RENFHFE)| 2015/10/19 500
m EE LEXEES (—RBMFTS)| 2015/10/19 500
i =E LEEXPES (—REMFMS)| 2015/10/19 500
" %E— LEA$EE (—REMSFHL)| 2015/10/19 500
Kig & LEXZES (—RENZHS)| 2015/10/19 500
HE St LEAFES (—RENZFHS)| 2015/10/19 500
PIH #E LEEXPES (—REMFMS)| 2015/10/19 500
A &EFT LEARFES (—BENZHE)| 2015/10/19 500
Bl =— LEAFES(—RENZFHS)| 2015/10/19 500
FigE 23 REASES (—RBEMEE)| 2015/10/19 500




FR28F3A31BIRE

FHE 2 AR CER27FE%E) NE
SETEGL FHES ZABEH SAFHAB| FitE4E (M)
HL F LEAFES (—RBEMEMNS)| 2015/10/19 500
IR BE LBAZES (—RENSHL)| 2015/10/19 500
JKH ffi— LEBAZES (—REMZHS)| 2015/10/19 500
UA i REXRERE (—RBEMZFHE)| 2015/10/19 500
Rk £ LERZES (—REMELS)| 2015/10/19 500
FHl B RBAZES(—REMFHS)| 2015/10/19 500
B X LEBAZES (—RENBEEL)| 2015/10/19 500
nEE #E LEEREES (—REMELR)| 2015/10/19 500
N REHR LEAFES(—RENZFHS)| 2015/10/19 500
AR 1EF EEAPES (—REMFHS)| 2015/10/19 500
i MM LEXPES (—RENFFS)| 2015/10/19 500
s £ LEXPES (—RENZFHS)| 2015/10/19 500
=N ok LBAZES (—RENSHEL)| 2015/10/19 500
R EIE EBXREES (—RENFHE)| 2015/10/19 500
=H XE LEA$EE (—REMSFHL)| 2015/10/19 500
Il ®= LERZES (—REMELS)| 2015/10/19 500
KRR FEH LEAZES (—REMERS)| 2015/10/19 500
ha AR LEERZES (—REMELS)| 2015/10/19 500
WE 8% LERERES(—REMNZFHE)| 2015/10/19 500
EFEAERS BHERNRUNEUSY=vY [EEXSES FIRXIEESE | 2015/10/30 500,000
MR EHLAHLERIT LEXPES (FEXIEEE) | 2015/10/30 700,000




bt = AR (L2745 R H) AR

FR28F3A31BIRE

SEHHEM FiHES RABEH S AFHH | FifEzE )
TR ER LERSES (PEXEEE) | 2015/10/14 5,000
BR 52z LERZES (24X EEE) | 2015/10/14 10,000
TH Eig LEXSES (PEXEEE) | 2015/10/14 10,000
FH 1Esh LekPEe (HEXEEE) | 2015/10/14 100,000
EFEALEAD)IIE Ed@ERER LEXyES (FEXIEER) | 2015/10/14 1,000,000
B8 #F LREAFES (FEXIEEE) [ 2015/10/14 10,000
e BES LEXFES (PEZIESE) | 2015/10/14 30,000
EEEAACER LEXFES (HRXIESEE) | 2015/10/30 400,000
KE BEHK LEEAFES WRZIEEE) | 2015/10/15 10,000
A &= LEXRSES (PEXEEE) | 2015/10/15 10,000
KERH ER LEEAPES (PEXIEESE) [ 2015/10/15 10,000
B mBEF LEXyES (FEXIEEE) | 2015/10/15 5,000
1B FORE LEREES (PEXEESE) [ 2015/10/15 10,000
KE BT LEAFES (PEXIEESE) [ 2015/10/15 25,000
g IE# REXFES (FEXIEESE) [ 2015/10/16 10,000
AR BEF LEBRYES (FEXIESE) | 2015/10/16 5,000
XK EH LEEXRSHES (PEXEEE) | 2015/10/16 10,000
g ;X LEEAPES (PEXIEESE) [ 2015/10/16 10,000
R Al eSS HRIEEE) | 2015/10/16 5,000
HH = égg?gﬁ(ﬁ%i 2015/10/16 50,000
N\ fneE LERFEE(FEX | )015/10/17 20,000

BREX)




bt = AR (L2745 R H) AR

FR28F3A31BIRE

RETHGL EtE4 ZABEZL ZAZHAH| FHLEE)
2l FE égé?gﬁmﬁi 2015/10/17 50,000
na - x4k égg?gé(iii 2015/10/17 5,000
Bk HEth ;{%g%ﬁ%ﬁ(?ii 2015/10/19 5,000
AR Bt égg?gﬁﬁii 2015/10/19 10,000
EH BX %g%ﬁ%ﬁ(iii 2015/10/19 10,000
YEiIT mnfksE éié?gﬁ@ii 2015/10/19 20,000
KE MF éi%ﬁ%%(?is‘z 2015/10/19 10,000
A 15 éi;)ﬁ%ﬁ(iii 2015/10/19 5,000
IS I=153 égg?gé@ii 2015/10/19 5,000
B BT %g;?gﬁ(iﬁi 2015/10/19 500,000
P X= éi;?gé@ii 2015/10/20 10,000
tmE EA é;;)ﬁ%ﬁ(iis‘z 2015/10/20 5,000
NG RE= éi;?gé@ii 2015/10/20 5,000
Mk KR égg?gﬁ(iii 2015/10/20 10,000
K& BEF égg?géﬁii 2015/10/20 10,000
£k #BF é;;)ﬁ%%(?is‘z 2015/10/20 1,000,000
iR R égg?gﬁ(ﬁ%ﬁz 2015/10/20 10,000
AL BEKRER é;;)ﬁ%@(?is‘z 2015/10/20 5,000
IME & éié?gﬁ@ii 2015/10/20 5,000
]2 égg?gﬁ(ﬁ%i 2015/10/20 20,000
EREZAECES LERFEEEEX | 5015/10/29 30,000

BREX)
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RETHGL EtE4 ZABEZL ZAZHAH| FHLEE)
EN 18 égé)ﬁ%ﬁ(iii 2015/10/21 5,000
[RE F5 égg?gé(iii 2015/10/21 10,000
Rie B é;;)ﬁ%ﬁ(ﬁﬁgﬁs‘z 2015/10/21 10,000
mix BF égg?gﬁ(ﬁﬁi 2015/10/21 500,000
HifE & %g%ﬁ%ﬁ(iii 2015/10/21 5,000
@ = éié?gﬁ@ii 2015/10/21 10,000
WE &7 éi%ﬁ%%(?is‘z 2015/10/21 30,000
A B éi;)ﬁ%ﬁ(iii 2015/10/21 55,000
(2SN égg?gé@ii 2015/10/22 100,000
—# J\BB é;;)ﬁ%ﬁ(iii 2015/10/22 5,000
INETR BF égg?gé(iii 2015/10/22 5,000
S HE égg?gﬁ(ﬁﬁi 2015/10/22 50,000
KO égg?gé(ﬁii 2015/10/22 20,000
HHE 8 é;g)ﬁgﬁﬁii 2015/10/23 10,000
it EE égg?gé#is‘z 2015/10/23 5,000
wiE E{E égg?gf(iii 2015/10/23 10,000
HE H— éié?gﬁ@ii 2015/10/23 5,000
E# KEB é;;)ﬁ%@(?is‘z 2015/10/24 5,000
VAT LR EF éi;?gﬁ@ii 2015/10/26 20,000
Ml FE égg?gé@ii 2015/10/26 10,000
AT R LERFEE(FEX | 5015/10/26 10,000

BREX)
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SEHEAL FitEA ZAHKEH SAFHH| FtEzEE)
- LERERE (FEX
na EE ) 2015/10/26 10,000
k4 LEREZERE(HEX
EE &#t mE ) 2015/10/26 10,000
LERERE (FEX
B FF iE ) 2015/10/26 10,000
o LERERE (FEX
A FX tE ) 2015/10/27 10,000
LERERE (FEX
Wk EER EE ) 2015/10/27 50,000
< LERERE(MHEX
ME EF m ) 2015/10/27 100,000
-~ LEXREZERE(HEX
FE & mE ) 2015/10/28 5,000
= LERERE (FEX
=g 5h EE ) 2015/10/28 300,000
" . LEREZERE (FEX
Rk B mE ) 2015/10/28 10,000
. LERERE (FEX
¥FH =i EE ) 2015/10/28 10,000
. LERERE (FEX
1H F08h tE ) 2015/10/29 50,000
" s LERERE(MEX
RTTHE IE EE ) 2015/10/29 10,000
e LEREEE (MEX
J\K F—ER mE ) 2015/10/30 10,000
pal-] N m%xi%ﬁ(iﬂzi
XE #BRF EE ) 2015/10/30 5,000
o LERERE (FEX
K —= mE ) 2015/10/30 10,000
. LEXRERE(MEX
HE BH EE ) 2015/11/10 300,000
LEXREZERE(ESE
AEELUEFESGKXEH ¥)FEF27F1288 2015/12/17 100,000
A H 5
LEXRERE(ESE
EEEARBN [REZERN TSR ¥)FERR27F128% | 2015/11/18 50,000
RIAH T
EEEAPLERERER ré)%j($£$ (B 2015/11/9 100,000
EREAMAEESVELRER é%*igé (% 2015/11/9 50,000
EREAMEAREFES LEAFEE(FEX 2015/11/19 500,000
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RETHGL EtE4 ZABEZL ZAZHAH| FHLEE)
alE ® égé?gﬁmﬁi 2015/11/2 100,000
=H BT égg?gﬁ(ﬁﬁi 2015/11/2 10,000
BAx MF ;{%g%ﬁ%ﬁ(?ii 2015/11/2 300,000
EfEA A EHEAPER éi;?gﬁ@ii 2015/11/2 10,000
&g B %g;?gﬁ(m%i 2015/11/2 100,000
hE EF égé?gﬁﬁii 2015/11/4 5,000
PR EH éi%ﬁ%%(?is‘z 2015/11/4 5,000
Rl EF ég;)ﬁgﬁ@ii 2015/11/4 20,000
H # égg?gé@ii 2015/11/4 10,000
[RE R&HE égg)ﬁgﬁ(iii 2015/11/6 10,000
B EF égg?gé(iii 2015/11/6 10,000
&k B é;;)ﬁ%ﬁ(iis‘z 2015/11/6 5,000
INE égg?gé(ﬁii 2015/11/6 10,000
HH B égg?gﬁ(iii 2015/11/6 50,000
BA &F égg?gﬁ(ﬁﬁi 2015/11/16 100,000
BEX BF %g%ﬁ%ﬁ(ﬁﬁ%i 2015/11/16 100,000
ME Hig éié?gﬁ@ii 2015/11/16 10,000
gl == s é;;)ﬁ%@(?is‘z 2015/11/16 5,000
i fE égg?gﬁ(ﬁﬁi 2015/11/16 5,000
¥ icHE égg?gé@ii 2015/11/16 5,000
SH =% LERFEE(FEX | 5015/11/16 5,000
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SEHEM FftEH ZABER SAFHAH | HHEEEEH)
BK BE ég;)ﬁ%ﬁ(iii 2015/11/9 5,000
[R¥ shiz égg?gé(iii 2015/11/9 5,000
EE EfE é;;)ﬁ%ﬁ(ﬁﬁgﬁs‘z 2015/11/10 30,000
INE 2R éi;?gﬁ@ii 2015/11/10 100,000
—H & ;{%;;?Eﬁ(iii 2015/11/11 10,000
INE IE égg?gﬁ(ﬁgﬁz 2015/11/11 20,000
WWF BHF égg?gﬁ(ﬁ%i 2015/11/13 10,000
% EM ggﬁz%@—ﬁaa 2015/11/17 500
RE &EE ggﬁiéé(—ﬂﬁﬁ 2015/11/17 500
=g Rt ggﬁi?ﬁ(_ﬁga 2015/11/17 500
L BE ggﬁz%ﬁ—ﬂ%ﬁ 2015/11/17 500
INITin = {é{%ﬁi)&ﬁ(—ﬁaa 2015/11/17 500
PRE fHE ggﬁz)gé(—ﬁﬁﬁ 2015/11/17 500
ZEA ffE— {é{%ﬁi)&ﬁ(—ﬁaa 2015/11/17 500
HOo 158l ggﬁi)&@—ﬁ&a 2015/11/17 500
et HEEK {égﬁi)gﬁ(—ﬁaa 2015/11/17 500
BiR &7 g%ﬁz%@—ﬂ&ﬁ 2015/11/17 500
AR g%ﬁi)&@—ﬁga 2015/11/17 500
S E4£ ggﬁz)gﬁ(—ﬁaa 2015/11/17 500
BE = ggﬁi%ﬁ_ﬂ%a 2015/11/17 500
B8 B LERTEE(—RE | H015/11/17 500
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SEtE FftEH ZABER SAFHAH | HHEEEEH)
8% % {é{%ﬁi)&ﬁ(—ﬁ%ﬁ 2015/11/17 500
HH B ggﬁz)gé(—ﬁga 2015/11/17 500
FEff EE %%ﬁi)&ﬁ(—ﬁaa 2015/11/17 500
—F &% ggﬁz%ﬁ(—ﬂaa 2015/11/17 500
TB\E Ak %%ﬁi)&ﬁ(—ﬁ&ﬁ 2015/11/17 500
=8 th— ggﬁz%@—ﬁ&ﬁ 2015/11/17 500
KFE KF %gﬁi)&ﬁ—ﬂ%ﬁ 2015/11/17 500
BH BEA ggﬁzéﬁ(_ﬁga 2015/11/17 500
BE BEA ggﬁz%ﬁ_ﬂ%ﬁ 2015/11/17 500
AH &R ggﬁi?ﬁ(_ﬁga 2015/11/17 500
F1% 5AE ggﬁz%ﬁ—ﬂ%ﬁ 2015/11/17 500
£ AT {é{%ﬁi)&ﬁ(—ﬁaa 2015/11/17 500
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